

$$(x+x^2+x^3+\dots+x^m)(x^2+\dots+x^m)(x^3+\dots+x^m) = \dots + \binom{m}{1} x^2 + \dots$$

$$(a+b)^m = \sum_{k=0}^m \binom{m}{k} a^k b^{m-k}$$

$$3^m = \sum_{k=0}^m \binom{m}{k} \cdot 2^k$$

$$m(1+x)^{m-1} = \binom{m}{1} + 2\binom{m}{2}x + \dots + \binom{m}{m} m x^{m-1}$$

$$\downarrow x=1$$

$$m 2^{m-1} = \sum_{k=0}^m k \binom{m}{k}$$

4 28-14:08

$$A(x) = \sum_{i=0}^{\infty} a_i x^i \quad B(x) = \sum_{j=0}^{\infty} b_j x^j$$

$$(A+B)(x) = \sum_{i=0}^{\infty} (a_i + b_i) x^i$$

$$(A \cdot B)(x) = \sum_{k=0}^{\infty} c_k x^k, \quad c_k = \sum_{i+j=k} a_i b_j$$

$$y = A(x) \quad B(y) = \sum_{i=0}^{\infty} b_i \left(\sum_{j=0}^{\infty} a_j x^j \right)^i$$

$$\frac{1}{1-x} = \frac{1-x^{k+1}}{1-x} \xrightarrow{k \rightarrow \infty} \frac{1}{1-x} \quad |x| < 1$$

4 28-14:33

$$\lim_{\epsilon \rightarrow \infty} \sqrt[m]{|a_n|} = \rho$$

$$\left(-\frac{1}{\rho}, \frac{1}{\rho}\right)$$

$$e^x = \sum_{n=0}^{\infty} \frac{1}{n!} x^n$$

$$(e^x)' = \sum_{n=1}^{\infty} \frac{1}{n!} \cdot n x^{n-1} = \sum_{m=0}^{\infty} \frac{1}{m!} x^m = e^x$$

4 28-14:45

$$a_k = \binom{(-n)}{k} \cdot \frac{1}{k!} \quad A(x) = \frac{1}{1-x} = \sum a_i x^i$$

$$\left(\ln \frac{1}{1-x}\right)' = (1-x)^{-1} (1-x)^{-2} = \frac{1}{(1-x)^3}$$

$$B(x) = \ln \frac{1}{1-x} \quad b_k = \frac{\binom{(-n)}{k-1} \cdot \frac{1}{(k-1)!} \cdot \frac{1}{k}}{a_{k-1}}$$

$$e^{ix} = \cos x + i \sin x \quad (-1)^k \cdot \frac{-n(-n-1)\dots(-n-k+1)}{k!}$$

$$(1-x)^n = \sum_{k=0}^{\infty} \binom{-n}{k} x^k = \frac{n(n+1)\dots(n+k-1)}{k!}$$

$$n \in \mathbb{N} \quad \binom{-n}{k} = \frac{(-1)^k \binom{n+k-1}{k}}{k!}$$

4 28-14:57

$$\frac{1}{(1-x)^2} = 1 + \binom{2}{1}x + \binom{2}{2}x^2 + \binom{2}{3}x^3 + \dots$$

$$= \sum_{k=0}^{\infty} \binom{k+1}{k} x^k = \sum_{k=0}^{\infty} (k+1) x^k$$

$$\frac{1}{(1-x)^3} = \sum_{k=0}^{\infty} \binom{k+2}{2} x^k$$

$$(a_0, a_1, \dots) \xrightarrow{\text{w.f.p.}} A(x) = \sum_{n=0}^{\infty} a_n x^n$$

$$A(x) \cdot x^k = \sum_{n=0}^{\infty} a_n x^{n+k}$$

$$(0, 0, \dots, 0, a_0, a_1, \dots)$$

4 28-15:10

$$\left(\frac{1}{k+1} x^{k+1}\right)' = x^k$$

$$\frac{1}{1-x} \cdot A(x)$$

$$\frac{1}{1-x} \sim (1, 1, 1, 1, \dots)$$

$$c_k = \sum_{i+j=k} a_i = \sum_{i=0}^k a_i$$

$$H_n = \sum_{k=1}^n \frac{1}{k} = 1 + \frac{1}{2} + \frac{1}{3} + \dots + \frac{1}{n}$$

$$\frac{3}{2} + \frac{1}{3} = \frac{9+2}{6}$$

$$1, \frac{3}{2}, \frac{11}{6}, \dots$$

$$\text{w.f.p. to } H_n \text{ is } \frac{1}{1-x} \ln \frac{1}{1-x}$$

4 28-15:20

$$\frac{1}{1-x} = 1+x+x^2+\dots$$

$$\frac{1}{1-x} \cdot \frac{1}{1-x} = 1+2x+3x^2+\dots$$

$$(1+x+x^2+\dots+x^{\infty}) = \frac{1-x^{\infty}}{1-x}$$

$$(x^0+\dots+x^{\infty}) = \frac{x^0-x^{\infty}}{1-x}$$

4 28-15:33

$H_n \xrightarrow{n \rightarrow \infty} \frac{1}{1-x} \sim \frac{1}{1-x}$

$(1-x)^{-1} \cdot \frac{1}{1-x} \leftarrow \text{coef of } x^m ?$

$a_0 = \frac{1}{0} \quad a_1 = 0$

$b_i = (i+1)$

$$c_i = \sum_{i+j} a_i b_j = \sum_{i=1}^i \frac{1}{i} (i-i+1)$$

$c_n = (n+1) \sum_{i=1}^n \frac{1}{i} - n = (n+1) H_{n+1}$

4 28-15:41